Population Math II
Directions: Solve the problems below showing ALL WORK! DO NOT USE CALCULATORS, except for your brains!

Helpful Equations: Show set up and Correct Math!

  PD = Pop/Area

r = (b+i) – (d+e)

DT = 70 / r (%)





     1000/ Pop. given

1) The United States has approximately 300 million people living in the country. In the US, there are 4 million births and 3 million deaths each year. And, there are 1 million immigrants entering the country, and 1 million emigrants leaving the country.


a) What is the growth rate (r) for the US?

b) Calculate the doubling time for this population using the growth rate obtained in a.

c) What is the population density of the US if the area of the United States is 4,000 square miles?

2) Practice solving growth rates for these populations. Get the answers to decimal form.
a) b = 12


b) b = 40


c) b = 30

    i = 4



    i = 10


    i = 5

    d = 4


    d = 15


    d = 20

    e = 2


    e = 15


    e = 5
d) b = 20


e) b = 68


f) b = 38

    i = 4



    i = 8



    i = 9

    d = 9


    d = 22


    d = 28

    e = 2


    e = 20


    e = 8

3) Put all the growth rates in Number 2 into percents. Show your work.

a)



b)



c)

d)



e)



f)

4) Calculate the doubling times for the growth rates in Number 3. Show your work.

a)



b)



c)

d)



e)



f) 

5) There are 500 births in an opposum population in 2009. In 2010, there were 300 births in the same opposum population. What is the rate of change of the birth rate for the opposum population? (r. o. c. = (Yr2 – Yr1) /Yr 1 x 100)
6) Canada will double its population size in how many years with a present growth rate of 0.5 %?
7) In 2010, the population of Brown Pelicans went from 7000 individuals to 17,000 individuals. What is the growth rate of change over those 4 years?
